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(A). Font.ArrayList<> fs = new Font.ArrayList<>(Q);
(B). ArrayList.Font<> fs = new ArrayList.Font<>();
(C). ArraylList<Font> fs = new ArraylList<Font>(Q);
(D). Font<ArrayList> fs = new Font<ArrayList>(Q);
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xO 1 000 x%40
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xUO 3000 x%40
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int x;
for(x=0; x<6; x++) {
| ?

}

oool 2  pOOD0OOOOO0O0OO0O0O0O10000

(A). System.out.println("xO ¥"x¥"00 0 x%40 ¥"x%4¥"")
(B). System.out.println("xO "+ x +"000 x%40" + (x%4))
(C). System.out.println("x0’'x’ 000 x%40 *x%4’")

(D). System.out.println("x0O +x+0 00 x%40 +(x%4)+")
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public class CountdsMultiple {
public static void main(String[] args) {

int i, count=0;

for(i=0; i< (i) g i+4) |
int a = | (i) ;
if (a%4==0) {
count++;
}
}
%d0000%", count);

System.out.printf("40 000
}
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% java Count4sMultiple 10 20 30 40 50
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% java Count4sMultiple 1 2 4 8 16
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(B). String.valueOf(args+i)

(A). Integer.parselnt(args+i)
(C). Integer.parseInt(args[i]) (D). String.valueOf(args[i])
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public String substring(int beginIndex, int endIndex)
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000000000 000000 endIndex-beginIndexOO OO OO

u:

"hamburger".substring(4, 8) 00 "urge" O OOOO0O
"smiles".substring(l, 5 00 "mile" 000000

ooood:

beginIndex-0 000000000 O0O000O0O0O
endIndex-0 00000000 OO0OODOODOOO
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o0o:
IndexOutOfBoundsException — beginIndex 0 OO OO OO OO 0O
endIndex 000 StringO0 0O DOODOOOODOOOOOOOOOOO
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public class SubstringTest {
public static void main(String[] args) {
String str = args[0];
try {
| () |
System.out.println(str);
} catch ( (ii) | e {

System.out.println(" (The string is not long enough.)");
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prompt> java SubstringTest Tokushima
ushi

prompt> java SubstringTest Ehime
(The string is not long enough.)
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import java.awt.*;

import java.awt.event.¥*;

import javax.swing.*;

public class PlusMinusButton ’ 0] {

JButton buttonl, button2;
JLabel label;
int x = 50;

@Override

public void init() {
buttonl = new JButton("-");
label new JLabel(""+x);
button?2 R

new JButton("+");

(i)
setLayout (new FlowLayout());
add(buttonl); add(label); add(button2);

3
public void actionPerformed(ActionEvent e) {
if ( (iii-1) b {
==
} else if ( (iii-2) b {
X++;
}

label.setText(""+x);
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import java.awt.¥*;
import java.awt.event.*;
import javax.swing.*;

public class PlusMinusButton2 extends JApplet {
JButton buttonl, button2;
JLabel label;

int x = 50;

@Override

public void init() {
buttonl = new JButton("-");
label = new JLabel(""+x);
button2 = new JButton("+");

buttonl.addActionListener(

(iv-1)

)
button2.addActionListener(

(iv-2)

)

setLayout (new FlowLayout());
add(buttonl); add(label); add(button2);
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00 00 UpDownButton.java
import javax.swing.¥*;
import java.awt.*;

import java.awt.event.¥*;

public class UpDownButton extends JApplet implements ActionListener {
int x=20;
JButton left, right;

@Override

public void init() {
left = new JButton("Left");
right = new JButton("Right");
left.addActionListener(this);
right.addActionListener(this);
setLayout (new FlowLayout());
add(left); add(right);

}

@Override

public void paint(Graphics g) {
super.paint(g);
g.drawString("HELLO WORLD!", x, 55);

public void actionPerformed(ActionEvent e) {
if (e.getSource() == left) { // LeftdOooond
x-=10;
} else if (e.getSource() == right) { // RightO OGO OO
x+=10;

repaint();
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00 00 UpDownButton3.java
import javax.swing.¥*;
import java.awt.*;

import java.awt.event.¥*;

public class UpDownButton3 extends JApplet {
int x=20;
JButton left, right;

@Override
public void init() {
left = new JButton("Left");
right = new JButton("Right");
left.addActionListener(
new ActionListener() {
public void actionPerformed(ActionEvent e) {
x-=10;
repaint();

}

);
right.addActionListener(
new ActionListener() {
public void actionPerformed(ActionEvent e) {
x+=10;
repaint();

}
)H
setLayout (new FlowLayout());
add(left); add(right);
}

@Override

public void paint(Graphics g) {
super.paint(g);
g.drawString("HELLO WORLD!", x, 55);
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